o2 A& WSSk a,b,c O W27 (B a>0,6>0,c>0)

X2\ xiz?
<cy_2> B (81y8)

@ a=1b=7,c=3 @ a=2b=12,c=3

® a=1,b=12,c=9 @ a=1,b=T,c=3

@azl,bzl?,c=3

ax4=4, a=1
3xX4=>b, b=12
t=81, ¢c=3




2. = AolA n 9] & Foted=t.

8" x 23 = 512
» E
> Heh: 2

B

8" x 23 = 512
23nx23:29
3n+3=9

T n=2




Tx—[5x—{2y — 4(x - 3y) }] & 7r5] & Wi, x O] A}y O A9

o?

7x — [5x— {2y — 4(x - 3y) }]
=T7x— (9x — 14y)

= —2x + 14y

L (=2) + 14 =12




4. oW Mol A 2.2 -3x % Wlojo} & 318 F2ko] HohAE Y] 2x? 1 5
7t S190ek. vhEA ARYSHES 1] e

D 2x* - 3x @ 2x* - 5x ® 622 + bx

@ 6x% 4+ 11x ® 6x% - 15x

om 418 Az 3}
A+ (=2x% = 3x) = 2x% + 5x

A= (2x% + 5x) — (=2x? — 3x) = 4x% + 8x

wpapA] BE2A] AAFSHH (4x% 4 8x) — (—2x2 — 3x) =
6x? + 11x°]th.




3x(x=5) +4x(1 = 3x) = ax® + bx + ¢ 4 W, abc °] 27

@o @11 @20 ®99  ©-9

a=-9, b=-11, c=0
. abc=(-9)x (-11)x0=0




6.

2x+3y = 3(x—1)+5y & W, xy+y-3 Sy of #3 A& YR fH?

® 2y?-4y-3 @ 2y* +4y+3 ® 2y +4y-3

@ -2y +4y+3 @—2y2+4y—3

2x+3y=3x-3+5y= x=2 AZSIH x=-2y+3
F0171 Alof i dstH
xy+y-3=(-2y+3)y+y-3

=-2y2+4y-3




900
Vg 2 AL
> =

> H™et: 9

35 7 7

900 180 22x32x5

22x32x%x5
n 2 32 o] ujZo] oo} g},
n=9

xn o] §F257} Hejd 82 o ofislofof shH 2







34 34500 A
AQ] Fo] & &=

@ 33

9 0 45 —
g5 3463 _ 38,

99 11 B2 A= 119 HjZ=0] o oF Sttt
waba] 4 9] gro] = 4 Q= AL 34, 900t}




i

0"—— A (e) 71 t—-o = _:Il'—|_o:] EI—
n E o
T




11, —xy?x(=2x%y)3 x4xy3 = AxByC A o, A- B+C 9] 34L& oot

> E

> Hgh: 29

—xy? x (—8x5y3) x 4x*y3 = 32x11y8
A=32,B=11,C=8
L A-B+C=29




12, (—24xy?) +12xyx A = —8x%y, —-8x%y? + Bx x?y® = 2x%y ¥ Wj, Ax B,
A+ BO e A2 F-51H?

X x
D 4x2, —4xy* @ _F, —16x3y* @—16x3y4, —F

@ 16x3y4, )% ® —16x%y%, —xy*

B ~

—24xy?
VA = —8x2y oA
12xy
-2y x A = —8x2%y oA = 4x?
—8x2y2 x 523
TNV RV 93y ol A
B
-8 4.5
I 2x3y o B = —4dxy*
B
S AX B =4x% x (—4xyt) = —16x3y?

X

y4

oA+ B=4x? + (dxyt)




O 872 @)51 x 52

@ 37x43 ® 512

® 13x7

51 x 52 = (50 + 1)(50 + 2)
=502+ (1+2) x50 +1x2




14.

(3x% = 9xy) =+ 3x — (6xy — 8y?) + (-2y) E Al

©4x—7y @ 4x+ 7y
@ 2x+ Ty ® 2x-vy

~&B

(3x% = 9xy) + 3x — (6xy — 8*) + (-2y)

=x—-3y+3x—4y=4x-"Ty




Hj
m]
o

® x2-2x-3

sto] LrERH?

S5 ©

Q.

A

~N—

=

=

40] 8 x

o

- (r+6)m- _

-

@ 3x+2

@x2+4x—5

X2 +4x-5

(x+5)(x=1)

DO x+2x+1
@ x2+3x-2



@ y=-x>-6x

@ y=x>+6

®)y

@ y=6x
@ y=

1
2
- 3
2)c—i—x

2+3

1
2

s

(

= xx(6 - x)

2

1
= §x2 + 3x

1

4

1

2

x2 + 3x

L,
Sy == 3
y 2x+x




17.

Fo] 7| oFE S

a
b

= Fshozt,
(<, x,y,z = T A AFAS=o|t})

> &

> HE:

15

of thsto] b =3.x =

99
10y +z

Ao, x+y+z9

B

a 2 30+x-3 27 + x
E:.x: 9 — 9

a 27+x 99

b9 :10y+z
(27+x)x3  81+3x 99
9%x3 27 10y+z
L x=6

10y +z =27

Ly=2,z=T7

xX+y+z=6+24+7=15

oA x 7} gk AtE] o] Apeigo|m 2

81 + 3x =99




. ol ]
18. O.abc’%—"’,i_——’r—iﬂﬂﬁﬁcg Catbtc e Tl

C} "
H =

-

>
> 3

o

15

B

213 639 5.0

=2 220 _ g5 olme
330 990 0645 °l
a=6, b=4, c =75 o|c}.

“a+b+c=15




19. 2(4+2) (42 +22) (44 +2%) (48 +2%) =49 - 224 of|, 5 q, b O]
Sa+ b F2?

@® 2 @ 4 ® 16 @32 ® 64

B ~

2=4-20|B=2

(4-2)(4+2)(42 +22) (4% + 24)(4° + 29)
= (42 - 22)(42 + 22)(4% + 24)(4® + 28)

= (41— 21)(4% 4 24)(48 + 28)

= (@ -B)e +22)

— 416 _ 916

La+b=16+16 = 32




